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Fltll Morks : lOO

TIme : Three hours

The figurcs in the margln tndfc,a;te

Jull morks for th;e qu*t7ons.

Answer all questlons.

l. (a) What are the recommendatlons
Jayakar Commlttee ?

What are the dlfferent tYPes of road
pattems ? 5

What are the different factors
controlling htghway geometric deslgn ?
Explain in detall. 10
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2. (a)
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(b)

In a dlstrict road where ttre ralnfall is
heavy, maJor district road of WBM
pavement, 3'8m wide and a state
htghway of Bitumtnous. concrete
pavement, 7'Om wide are to be
constructed. What should be the height
of crown wlth respect to the edges in
these two cases ? s

Calculate the safe stopping sight
dlstance for design speed of S0krn/lv
for two-way trafEc on two-lane road.

5

(c) Derlve expression for overtahng sight
dlstance. lO

A hfghway is provided wtth a hortzontal
curve of radius 3OOm. Calculate
superelevation required to malntaln a
destgn speed of 9Olon/lv.

5

Calculate the values of ruling mirrimum
and absolute minlmum radlus of
horlzontal curve of NH in plain terrain.
Assume ruling design speed and
minimum design speed values as lOO
and SOlon/ lv respectively.

5

(a)3.

(b)



4.

(c) An Expressway four-lane divided
passirtg through a flat terrain has a
horizontal curve of radtus equal to
Ruling rninlrnum radius. If the design
speed is l2Okm/ hr, calculate the
following elements of the curve.

O Ruling minimum radius

(ii) Superelevation

(ud Extra widening

(iul Length of transition curve

Sue€lest the best suitable shape of the
transitlon curve. 10

(a) Ttre speed relaUonshlp for a particular
road was found to be D = 42.26-O.22k,
where 'u' is the speed. in hn/ fu and k
is the density of vehicle in knL Find

Jam density, maximum capacity and
density at maximum capacrt5r. Sketch
the relationship between density and
flow and lndicate important trafrc flow
parameters on it. 10
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5. @)

(b)

Deflne the following : 2x5=lo
(i) TIme headwaY

(ii) Space headwaY

(iir) Basic capacity

(iu) Posslble capacity

(u) Practlcal capaclty.

Explain CBR test lrr detail. 5

What are the desirable properties of
aggregates used in road constn-rctlon ?

5

Explatn Impact test on aggregate'
5

Explain Flash and Fire Point test of
Bitumen.
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